04366 hiet R &

7= miiEA

M
RN,
BRI FHER,

g
ZPRFNBEECLE,
REZERM RN FRER PF 31, B6,

BR:
* RN FRED

M -
FRHEF R 06355, BRI HEARFH 06357,

© norelem www.norelem.com



04366 KEkt X &

5

" 3 MBTFREFHRNELIL
(4BBGFLZ AN AR  35°)
IATRATREEIRHLE
gE
[}
u-— -_-_-_(_ _ #
. | .=$
_] i
o 1 ! 1
ﬁﬁ '
&) E o |
= | = i
X ]
o -
s
g8
HRA LR
WFF A B

FAFF {28

© norelem

www.norelem.com



04366 etk &

A A BCDETFIGJKLMN P R S T|U V [F=3kiHh
min. max. N
04366-003232  04366-103232 32,6 |30[46(18|30] [14|25/M6 |15 575 M4x8 [M5 - | - 800
BF
04366-004540  04366-104540 F# |44,1| 45,9 |40|63|25|38|13 40|16/32|M8|20|22,5|69,5|78,1 | M6x12 |M6 - | - 1200 | 200*
£8F

04366-013232  04366-113232 HIBF |31,4| 32,6 |30|46]18/30/10 32|14|25|M6|15| 17 | 51 |57,5| M4x8 |M5 20| 73 800 150”
04366-014540  04366-114540 TIEF |44,1| 45,9 |40|63|25|38|13 40/16|32|M8|20|22,5(69,5|78,1 | M6x12 |M6 25/107 1200 200"

© norelem www.norelem.com



